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means, such as change of response by scratching or using
white fluid, you will render yourself liable to disqualification.
You have to return the Original OMR Sheet to the invigilators
at the end of the examination compulsorily and must not
carry it with you outside the Examination Hall. You are,
however, allowed to carry original question booklet on
conclusion of examination.
Use only Black Ball point pen.
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POPULATION STUDIES
Paper - 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All
questions are compulsory.

1.  Which state among the following has highest female age at marriage according to census
of India 2011 ?

(1) Goa (2) Karnataka

(3) West Bengal (4) Maharashtra

2. Which measure among the following reflect chronic malnutrition of children ?
(1) Height for age (2) Weight for age

(3) Weight for height (4) Upper arm circumference

3. Maternal mortality ratio in India has declared from 212 in 2007-09 to 178 in 2011-12.
Which answer below represents the correct percent decline in MMR in these four years ?

(1)  About 76% (2) About 19%

(3) About 16% (4)  About 17%

4. Which of the following is an exact measure of replacement fertility ?
(1) TFR (2) NRR

(3) GRR (4) TMFR



SHYEAT e qT

A - |

A T AT H 0 (50) Sg-fashet i Ie € | Hedeh U S et (2) iR E | Wt I A |

1. 8% ¥ W | 9am & 3g a9 2011 1 ST % SFAR ST @ E 2
(1) Ter (2) wAREH

(3) ufv=aH St (4) TERTZ

2. frAfcfad 5 9 &9 o1 A1, Sedt | et HUIEoT i S € 2

(1) 3T % FER oars (2) 3 % AR a9

(3) TaTE % AR a5 (4) U e A uRty

3.  9RA U A 9 I 2007-09 H 212 ¥ TEH 2011-12 F 178 & T | T IR 96 § UHUH.SR, H
SHHT T T WA (FEATAREd § § DI 90T & 2

(1) T 76% (2) T 19%

(3) T 16% (4) T 17%

4. TrefciEd 9 9 997 Uqeo ST o6 Hel Je € 2
(1) ATER (2) THIARAR.

(3) S.eW.3R. (4) A THTEIMW.



5. Given the life table functions q,, I, L, J, for a complete life table. Which of the following

expressions will be used to compute e, (expectation of life at age x) ?
1 T, /L, 2 T/

(3) Tx / qx (4) TX / I0

6.  Which among the following is the highest density area ?
(1) South Africa (2) South America

(3) North America (4) West Europe

7. The number of infant deaths in a year ‘y’ is Dy' and the number of infant deaths in year
‘y+1'is D"y .1 occurred to the births in year “y’ is By. The adjusted infant mortality rate

calculated by cohort probability method is expressed as :

D! + DH + DN _ D/

(1) IMRg=—5«1000 (2 IMR=—Z—"x1000
y y
D' -D" B _(D! +D" )
(3) IMRg=—r5—x1000 (4) IMR=———5—""=+1000
y y

8. Which one of the following is being used currently as a measure of the goal of population
stabilization in India ?

(1) Population growth rate (2) Crude birth rate

(3) TFR (4) NRR

9.  Which country among the following has the largest share of elderly population in 2015 ?
(1) Korea (2)  United Kingdom
(3) Japan (4) laly



5. = WYOT Sa Afereht & Sa aferst aRA g, 1, L, J, ST T E | Feefated 3 9 59 9 9
=T TN e, (3T X TR e I M) 3% GRFe % Foaq foham e 2

L T,/L, @ T/l

(3) TX / qx (4) TX / IO

6. fove o f=feiiad & § i 91 &3 Geilfes ear el &7 € ?
(1) =heaor TR (2) st SRR
(3) TR ST (4) fvEdr gTT

7. UTHOY ‘y’ H e wf g ¥ Dy € 99 U 9 ‘y + 17 H Rrpst it gog ¥em DYy + 1€,
ag 'y’ § g T By € | o UUE WWEH Ui FRT UReHlold QHIEISTA fOTY] geIeT e
At €

D; + D" N DH _ D!

(1) MR =5 «1000 () IMRg=—Y5—1000
y y
Df — D" B - (Df + D" )
(3) IMR=—r5—" 1000 (4) IMR=———5—""=1000
y y

8. ToHM H UNA H FEfeiiad 9§ & foraent TanT SHEEm Rerien o & ¢ o A9 o di 9T fohar s

®WE?
(1) ST ghg w® (2) oTenfd S 3T
(3) T TEIR (4) TAINRAR.

9. fAfciiad § & fFq 391§ 2015 | o[ I Ha 37fersh STweE off ?
(1) i 2) FEee e
(3) <M (4) st
Jao0lsl7 5 Paperll



10. The place that functionally serves many other places is called ;
(1) City (2) Central Place

(3) \Village (4) City Centre

11.  Which among the following is not included in Human Development Index constructed by

UNDP ?
(1) Life expectancy at birth (2) Mean years of schooling
(3) Livable housing (4) Per capita income

12. According to NFHS — 1V data, which of the following states had highest percentage of
underweight children under age of 5 years (weight for age) ?

(1) Maharashtra (2) Madhya Pradesh
(3) West Bengal (4) Bihar

13. Match the names of the propounder in List — | with the theories they proposed in List—1I :
List—1I List—11
(@) Gary Becker (i) Economic theory of fertility
(b) Kingsley Davis  (ii) Social capillarity

(c) Harvey (iii) Theory of change and response
Leibenstein

(d) Arsene Dumont (iv) Quality-quantity trade off
Codes :
@ () (¢ (d)
D O @) @) (v)
(2 @) (@) (i) (iv)
@) (i) (v) (1) (i)
(4) (iv) (i) (@) (i)
Paper-l 6 JA01517



10. o T ST fhaTcHs €0 @ 9gd H 3 TF Sl SEvIhad gi T €, SH Fel ST 8
(1) = (2) F=EEE
(3) T (4) fErEx

11. T=fafed § 9 ®F uA.SLd. 511 Hi0a 7Ha fowra e o Gehas Tel ¢ ?
(1) S % 9T Sie T (2) TS (THieT) T 3T g
(3) & AEE T (4) i =k e

12. TATETATI-|V el % AR, Fefated § 9 f6g 159 § 5 a9 9 &9 21 % Hd 8 57
TS o Sl (3T STAR a5T) 1 Ufaerd Fad 2ifess o1 ?

(1) werTZ (2) wAW
(3) ufvaH amer (4) TR

13.  UfdUTE o AT (gt — |) T 39 5T wiqaied MgT= (et — [1) % | Gaferd e ;

= - | =t - 1
(a) TRY ST (i) VST o1 eTTTéTeh fagT
(b) fFret 2t (ii) AT SHTRTeRT (TeTeT ShTetier)

(c) ¥ fomifens (i) uRae ud i s T
(d) o8 SHie (iv) TOTErT-HTET e
?CZ
@ (b) () (d)
@ @ (i) (i) (iv)
2 @) (@ (i) (iv)
@) (i) (v) (@) (i)
(4) (v) (i) (@) (i)



14.  Match items in List — | with the associated year of their launch in List — 11 given below :
List—1 List—11

(@) Declaration of The First National Health Policy of (i) 1997
India

(b) Launching of the reproductive and child health (if) 1983
programme — 1

(c) Establishing the National Commission on population (iii) 2000

(d) Establishing the Jansankhya Sthirta Kosh (National  (iv) 2005
Population Stabilization Fund)

Codes :

@ () (© (@)
Q) @) (@) (i) (iv)
(2 (i) (i) (1) (v)
@) (v) () (i) ()

@) (@) (i) (iv) (i)

15. The demographic balancing equation is represented by which of the following :
(1) natural change and crude birth rates
(2) natural change and dependency ratio
(3) net migration and dependency ratio

(4) net migration and natural change



14. fefafed gEr - | 5 A7:1 H gal— || § S Gatad ot & a1 gaferd Hiteg ;

= - | = - 1
(2) TR I T2rH T e Hifd i S (i) 1997
(b) ST TSt foTe] T HTEEHH-1 T WRH (i) 1983
(C) TS STEEAT ST i T (iiii) 2000
(d) S feerar iy &t T (iv) 2005

H

@ (@) (© (@
@ @Gy (@) (i) (iv)
(2 @) @iy (@) (@v)
3) (iv) () (i) (0

@) (@) (i) (iv) (i)

15. = B 9 SIF G1 SHifhHT T THIHOT TR T € ?
(1) omepiaes aRerd= qr SRt 51 &
(2)  wrpfceh e e R ST
(3) &t vorsT e FRar T

(4) et veSTH T Wi aReEdT



16. Match List - I, giving names of the scholars associated with some of the population theories given

inList—11:
List—1 List— 11
(@) Edwin Cannon (i) Concept of optimum population
(b) Quetelet (i) Mathematical approach to the study

of population growth

(c) Verhulst and Pearl and Reed  (iii) “The theory of logistic” growth of
population development

(d) Frank W. Notestein (iv) The theory of demographic transition
Codes :
@ () () ()
1 @ (i) (i) (iv)
(2 (i) (i) (v) ()
@) (i) (iv) (@) (i)
(4) (v) (i) (i) ()

17. Assertion (A) : Most of the states in Southern part of India achieved replacement level of
fertility earlier as compared with the states of Northern part of India.

Reason (R) : In Southern states of India, female empowerment and autonomy is higher as
compared with the northern states.

(1) Both (A) and (R) are true and (R) is correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.



16. T - | § SeEn & fafv=r fagrdl @ g faeme & am fqu 1w €, o g9 - 11§ o
SO fagT=dt o a1 gaferd S

= - | = -
(a) ST (i) $weaw SFEE i LR
(b) et (i) SFEE gig & 3T S T ST

(C) SRETE (Verhulst) T Tt @l (iii) STE@ Hehrd &l gig &1 aifchen g

(d) e, Tseg. ARTREA (iv) SIS TrRITE 1 g

%< .

(=N

@ () (¢ ()
@ @ ) (i) (iv)
(2) @) (i) (iv) (@)
@3) (i) (v) (1) (i)
(4) (iv) (i) (i) (@)

17.  af\repem (A) : RA o IR0 9HT & STTehieT T A ST AW o TSl Bl Joi T H USTHT
TTARITO ¥ get & U Y foram o |

HROT (R) : TRA & (A0 T2 T ATeel TRISRIDH0T FT TPl ST T54T bl qoiT 31 & |
T

(1) (A) &R (R) 3H @&t € @ (R), (A) 3 98t A ¢ |

(2) (A) 3R (R) I Tel €, 77 (R), (A) T T&l = Fal & |

() (A) T, g (R) T & |

(4)  (A)Tom &, fey (R) W & |
Jao17 1w Paperll



18.  Among the following combination, which one correctly lists five geographically largest
states of India (census — 2011), according to their descending order ranking.

(1) Rajasthan, Madhya Pradesh, Maharashtra, UP, J&K.
(2) Madhya Pradesh, Maharashtra, Rajasthan, UP, Gujarat.
(3) Rajasthan, Madhya Pradesh, Maharashtra, J&K, Gujarat.

(4) UP, Rajasthan, Maharashtra, Madhya Pradesh, J&K.

19.  Among the following statements, which one correctly lists five most populous countries of
the world, according to their ranking in descending order (higher to lower in 2015) ?

(1) China, India, Indonesia, U.S.A., Russia
(2) China, India, U.S.A., Indonesia, Brazil
(3) China, India, U.S.A., Brazil, Indonesia

(4) China, India, U.S.A., Russia, Indonesia

20. Match Millennium Development Goals established by the United Nations in the year 2000, given
below in List — | with the number assigned to them given in List— 11 :

List—1 List— 11
(@) To eradicate extreme poverty and hunger @i 1

(b) To promote gender equality and empowering women (i) 3

(c) To reduce child mortality rates (i) 4
(d) To improve maternal health (iv) 5
Codes :

@ () (¢ (d)
@ O @) (@v) (i)
(2) @) (i) (@) (v)
3) (v) () (i) (i)
@) (@ @) (i) (iv)

Paper-I1 12 JA-015-17



18. frfefad & @ 6@ %o § 2011 & STHUAT &% AR Ml €0 ¥ o 9 U T4 6l
STt 3T (S W FeT) & SR g ® 2

(1) TSTIF, TE YR, HeRTE, STR WS, ST 31¥ H9HR

(2) T IR, HeRTE, TSTRI, SR USeT, R

(3) TSR, TE U, HERTE, ST 3{Y HeHN, o

(4) TR USET, ISTEIH, TERT, He USST, ST 31X H9diY

19. fTr=fafad § @ 69 =2= 4 2015 | fava & qad 31fe SHEET et 9 <91 bl Sl T
(= ¥ T7) % STER el g & 2

(1) =, R, SRR, SR, T

(2) =, YR, 3R, TSP, Fee
(3) =, 9, T, FSie, TSHTeT
(4) =, wrE, e, T, SemtvEn

20. ¥gE T FRT A9 2000 H TS FT TeAR Gh e A G — | H {U M § qor 3 & e
T Gl — | 6 &, gl — 1 1 H&T S Gl — 11 AR o 1 G iy

=it - | =t - 1
() 3T FEaT T O 1 S AT (i 1
(b) ToTT THFAT Sl SETaT 31 T2 Aigenstt ®f wee g (i) 3
(c) oY JogaY it | (iii) 4
(d) WG TR i SRR S (iv) 5

%< .

@ ® © @

® O @ @)

@ @) i) 0 @)

@ (v @ i) )

@ O @ i) @)
JAa087 138 Paperll



21. According to 2011 census, how many class-I cities with 1,00,000 and above population
were in India ?

(1) 303 (2) 403

(3) 503 (4) 603

22.  While propagating central place theory of urban system which among the following was
not considered by Walter Christaller ?

(1) Isotropic region
(2) Evenly distributed population
(3) Consumers are of same income level

(4) Continuous development and technology change

23. Match the denominators shown in List — Il with fertility indicators shown in List—1 :

List—1 List— 11
(@ CBR (i) Women in reproductive ages
(b) Child Woman Ratio (i1) Reproductive age specific women

(c) Gross Reproduction Rate (i) Reproduction age specific married women
(d) Total Marital fertility rate ~ (iv) Total population
Codes :
@ () (¢ ()
D @ @v) (i) (i)
(2 (v) (i) (i) ()
@) (@v) () (i) (iii)
4) (v) (1) (i) (i)
Paper-n 14 JANSIT



21. 9RT H a9 2011 S SHIUET & AR 1,00,000 TS ST AT STHEEAT Aret SUT-1 % Tohd= 9Tl
T eI H T ?

(1) 303 (2) 403

(3) 503 (4) 603

22. YL YOTSR & Hid T Mg o ufque d qHa, e hader 3 Fetafaa ° 9 fea ™
forame =& foram o 2

(1) wsime &

(2) TEE TT Y theAl SHEE

(3) SIS U & 3T TR H B ¢ |
(4) T forepra e TRt giedT

23. A — | H T T G & THRT B G — |1 3 1oy Gofera i ;

= - | = - 1
(a) Haham (i) WS 3y o ieend
(b) Torey wew Srger (ii) s 311 faferee feemd
(C) T T T (i) wst 317 faferee feanfea afgemd

(d) FoT JaEeh USFHAT 3T (iv) T STEET

T4

(=N

@ ® © @
® 0 @ G i)
@ (v (@) (i) )
® (v O a) (i)
@ (v @ i) )
JAa087 15 Paperll



24.  Which among the following is the largest megacity of India ?
(1) Delhi (2) Mumbai

(3) Kolkata (4) Chennai

25. Match the surveys given in List — | with their year of initiation given in List— 1l :

List— 1| List- 11
(@) India Human Development Survey — Il (IHDS-I1) (i) 2012-13
(b) Rapid Survey on Child Health (RSOC) (i) 2011-12

(c) Building Knowledge Base on Population Ageing in India (BKPAI) (i) 2014-15
(d) Survey on Global Ageing and Adult Health (SAGE) — Wave 2 (iv) 2011
Codes :
@ () (¢ (d
1 Gy (i) @) (v)
2 (i) (@) (v) (i)
@) @) (i) (v) (i)
(4) (i) (iv) (@) (i)

26. After reaching Delhi river Yamuna is considered as a dead river. Which of the following
is the reason for the same ?

(1) Itis chocked with plastic waste and garbage.
(2) It’s water is diverted for irrigation and channel dried up.
(3) Itisunable to dissolve oxygen any more.

(4) Itis full with industrial effluent.



24, TEfiEd °§ § 9N 1 99 87 T8 hid 1 ¢ ?

1) feeer 2) T=k
(3) HicTehTar (4) ==

25. - | ¥ KU T weeon i gt — || 7 KT 7T 37 Y B o6 A6l 3 W AT g

it - | T - 11
(3) WA A o FAeToT — || (3T ST .-11) (i) 2012-13
(b) Tere] T@men WeHt @Ra waetT (RSOC) (i) 2011-12

(C) 9RA | J5 Bl STEEA % SN H SHHRT 1 3MER ST (BKPAI) (iii) 2014-15
(d) Sfveh TR T Tk WA Heel JAeT0T (TH.USE,)-ad 2 (iv) 2011
H
@ () (© (@@
@ @G @iy @) (@v)
(2 @iy () (v) (i)
@) (@) (i) (iv) (i)
(4) (i) (iv) () (i)

26. feoetl Uge T AT T G K1 AT ST § | 7 § | i G ST HRT § 2
(1) ¥ ©IReh HoR aT HS T T T |
(2) &= &g 9 UMl & AN 5ol T ¥ 3R TE YW TE T |

(3) T 3T RIS HI faera =&l Y ur |

(4) T SiET dfevA S ST |
JAao0s7 w7 Paperll



27.

28.

29.

30.

Which among the following is reasons for migration is not covered in the census of India ?
(1) Marriage (2) Education

(3) Natural Calamities (4) Work/Employment

Which one of the following is not correct about NFHS-1V ?

(1) NFHS-1V has covered 29 states.

(2) NFHS-IV has covered 5,71,660 households.

(3) NFHS-IV has covered 28,583 primary sampling units (PSUs).

(4) NFHS-IV will provide information on HIV prevalence for women age 15-49 and
men age 15-54 at national and state levels.

Which one among the following is considered as a major factor for female headship in the
household ?

(1) Higher level of education of the female member.
(2) Higher income of the female member.
(3) Young age of the female member.

(4) Absence of adult male member.

Assertion (A) : Women are more in marriage migration and less in economic migration in
India.

Reason (R) : Women’s mobility in India is restricted by socio-cultural reasons.
Codes :

(1) Both (A) and (R) are true and (R) is correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.

Paper-I1 18 JA-015-17



27.  YRA & SO ¥, FEAfarad § & Yot {9 SHROT S AiEteld @l A i ?

(1) foem (2) feen
(3) TP IU_TE (4) FERSTR

28. TAUETITE-IV & a1 ¥ Frefaiad § 9 =1 98l 98l ¢ ?

(1) TATETITE-IV H 29 41 S GiAferd fomar T e |
(2) TWEETITG.-IV 7 571,660 TRERT H AT 51 € |
(3) TATHETATE-IV | 28,583 Wreiheh ¥ Tehreat (PSUc) ot TiHTerd fohar mar € |

(4) TATETATE-IV 15-49 9 St Afecta T 15-54 I9 % GO0 § T3, g & ar
T T qAT T TR T TR WS HaT |

29, FrAfefEa # § e aRem # Afeemell i JRaATE 1 T T SHROT AT S § 2
(1) TfEeT T8 i e 1 3e9 TR
(2) HieeN T = ATF A
(3) wiEet AT i HH A

(4) TR IET T H T AT

30. fWeE (A) : IRA § Higed faae Yo § 1fdeh § SR e vt § 9 & |

HROT (R) : TRA H HEeTail i TAeierdl FMHIsTh-Giahiaes RO & i & |
T

(1) (A) 3R (R) I T&t € @2 (R), (A) 1 Tet e L ¢ |

(2) (A) 3R (R) I Tl €, T (R), (A) 1 Tel = Fal & |

3) (A) T &, o (R) T & |

(4)  (A)Tom &, fey (R) W & |
Jao17 19 Paperll



31.

32.

33.

34.

Population growth rate of a country for a well-defined period can be measured by
calculating “Arithmetic growth rate” (A), “Geometric growth rate” (G), and “Exponential
growth rate” (E). Which one of the following expression is correct ?

(1) A>G>E (2) A>E>G

(3) E>G>A 4 E>A>G

Which one of the following is not a measure of association for case-control studies ?
(1) Ratio (2) Odds ratio

(3) Attributable fraction (4) Population attributable risk percent

Which one of the following is not true about Pradhan Mantri Surakshit Matritva Abhiyan
(PMSMA) ?

(1) PMSMA is part of the Reproductive, Maternal, Neonatal, Child and Adolescent
health (RMNCH+A) strategy.

(2) PMSMA will be held on 9" of every month at identified public health facility.

(3) Target beneficiaries will be all pregnant women who are in their 2" and 3™ trimester
of pregnancy.

(4) Health facilities, where obstretics & Gynaecology (OBGY) specialists is not

available, services from private practitioner (OBGY) on fixed payment basis are to
be arranged.

Rapid growth in a population is indicated by which of the following ?
(1) With a smaller proportion of the population in the younger ages.
(2) With a larger percentage of people in the younger ages.

(3) With a larger percentage of people in the adult ages.

(4) All of the above.
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31. UH G A & U 39 ol SHUEAT gg 5T Bl “SFH0EE ghg 37 (A), “SHHAT g 527
(G), T “TRETTh! (TR gig 3¢ (E) T URehetd < HIaT ST 9ehall & | Ffenad o 9
I Ot 3Tt el & 2
1) A>G>E 2) A>E>G

(3) E>G>A 4 E>A>G

32, TrefeiiEd & | o qren-FEsT (e sheler) eaae Hedt | i ek el € 2

(1) et (2) oo s
(3) T Tue (4) S AR SifEw v

33, frefcfEad & & i T qam w5 QR Aiged S (WU IEIE.T) & 9R § el e ¢ ?

(1) WU THTAT. TS, HIged, ToeTd-Rm] qor fHem @ (WU ud. +A) oI
HAFE |

(2) WTATATAT, HT ESH TedH BT T S @R &5 H & 16 Hi 9 dRg i f6ar
ST |

(3)  ATeTer ATl Hedt Mot Aiged g, ST e bl T qT et faHe 7 € |

(4) UH W F5 TRl T A (SR T MeAThieArsT) (373157378, foeioey Sucisy Tai
&, Tt (IR e & TR W st fafshedes s Fand off Sa |

34, SO ¥ dsh ¥ gig 69 Uer 3a & St 8 ?

(1) JaT g | U % U SIS U & a1

(2) gam g A H AR o A Wi o "
(3) T G o H TN o e WA o arer
(4) ST T
Jao0lsl7 20 Paperll



35.  Match items in List — I with their description in List— 11 :

List— I List— 11
(a) Speed of Urbanization (i) Urban population in proportion to rural population
(b) Rank size rule (ii) Weighted average of the size of cities
(c) Urban - Rural Ratio (iii) Change in degree of urbanization

(d) Mean city population size (iv) The relationship between the size of city and its rank
Codes :
@ () (¢ ()
(D) (i) (v) (@) (i)
(2 @) (i) (i) (iv)
@) (v) (i) (i) ()
@) (i) @)y (@) (v)

36. Assertion (A) : Population projection by component method gives better estimates.

Reason (R) : Component method includes both age and sex composition of the
population.

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.

37. Measurement of Singulate Mean Age of Marriage (SMAM) was developed by
(1) A.J.Coale (2) J.Hajnal

(3) Chandrashekar and Deming (4) Kingsley Davis



35. EI— | HR R g - || 53 T Smen & 9 gatd Hif

Tt - | aft - 11
(a) Tk i (i) T ST % S § v S
(b) I TR | (ii) IR % BRI IR S
(C) TE-TTHIOT Ut (iii) TEIHIOT & T § TEAT

(d) 3T T SHEET 3MHR (iv) IR & 3MHR qAT 3Tk L b oAle Fayey

%< .

(=N

@ () (¢ (d)
@) (i) (v) (1) (i)
2 @ @) (i) (iv)
@) (iv) (i) (i) (@)
@) (@i () (0 @v)

36. AfWw (A) : THH UG FRT STHAEAT VEII0T T Sec¥ SFTAM e 8iel & |
HROT (R) : ToH TFIA H TGS T 3 qAT o T ST i &l IS (5T S & |

B!

(1) (A) 3R (R) I Tt & 7 (R), (A) Ff Tel AmT & |
(2) (A) R (R) I W&t € @2 (R), (A) 1 Tet e T § |
3) (A) T &, o (R) T & |

4) (A TR g, fF (R) TR E |

37. ‘uEa 3fad foeme & 9Ha & 3% (SMAM) A9 i = & fhee ufquree fear 2
(1) TS, e (2) . &
(3) TR Y ST (4) THaer o



38.

39.

40.

41.

Assertion (A) : Investing in Family Planning is a cost-effective method to achieve
development goals.

Reason (R) : Family planning ease resource burden leading to availability of higher per
capita resources for developmental activities.

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.

If a country’s rate of natural increase has declined, then which of the following is correct
for the doubling time of its population :

(1) been reduced to zero (2) decreased

(3) increased (4) remained the same

According to Agenda of sustainable development adopted by 193 countries at the United
Nations in 2015, how many goals and targets given below are to be achieved by 2030.

(1) 18 goals and 130 targets (2) 21 goalsand 151 targets

(3) 15goalsand 170 targets (4) 17 goals and 1609 targets

Which of the following is not the health goal for India during 12" Five Year Plan ?
(1) Reduction of IMR to 25

(2) Reduction of MMR to 100 per 1,00,000 live birth

(3) Raising child sex ratio in the 0-6 age group from 914 to 950

(4) Reduction of T.F.R. below 2.0
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38.

39.

40.

41.

AR (A) : IRAR T | 69T ST o ol i U - i Ueh oI T gt
T

FHROT (R) : TRER S § S R 9R 9 21 €, 9% SRoT g gadt st &g
T AeRT HETEAT ! ITCTeH I ST & |

B!

(1) (A) 3R (R) I @&t €, @2 (R), (A) F 98t A ¢ |
(2) (A) &R (R) THl W&t €, 6 (R), (A) T Tl e T8 ¢ |
() (A) T, g (R) T & |

@) (A) T g, g (R) T e |

I Tt 397 I TTpfaes gig X O TE & O FT 0 B STHT STHAEAT % ST B o T
forr @@t & 2

(1) "I TE | (2) TTE |
(3) TFETAE I (4) @& |

2015 T ST T & 193 I §RT Wiha od oo o HEGE & AR, 2030 T F 7 F
T 329 el e T feh ST & 2

(1) 18 3T¥a @ 130 e (2) 21 3T¥F T 151 A

(3) 15 3=3F @ 170 71 (4) 17 3237 @1 169 7o

128 deEETE FISHT % SR R o fow F=fafad § & i 91 @ gedt 3299 T8 & ?

(1) IMR I &9 X 25 T T |

(2) T 1,00,000 Sfifad S+ F=ai W MMR 31 ge1e 100 W AT |

(3) 0-6 3T T |E | et oA i 914 F FEIHT 950 FHAT |

(4) T.F.R. 3 &7 H 3T 2.0 9 =< & |



42. Choose the correct quality of age-data category given below, for which the five point
formula used for smoothing data is appropriate ?

(1) Moderate (2) Accurate

(3) Not accurate (4) Highly accurate

43. Settlement pattern of a place reflects upon which of the following combination ?
(@) Physical endowment of the place
(b) Social interaction
(c) Infrastructure facility

(d) Gender segregation

Codes :
(1) (@), (b), (c) (2) (b)&(c)
(3) (c)&(d) 4)  (b), (c) &(d)

44, Assertion (A) : The Universal Health Coverage is expected to result in financial
protection of the poor.

Reason (R) : Poor will have to spend less on treatment and they will also save
catastrophic expenditure on health.

Codes :

(1) Both (A) and (R) are true and (R) is correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.



42, 3 TE MY Gaelt SAiehet St SN el ura i g, e el % gure s & fo Ut
A HIT ST B & 2

(1) === (2) wIF
(3) wew (4) = & W

43. et T 1 T Yo (ufasfa) e 8 @ i W age serar € ?
(a) T = arates et
(b) EHIE GaE

(C) STEEEATHE o

(d)  for gererpror

FE !

1) (@), (b). () 2) (b (c)
3) ()T (d) (4)  (b), (c) @ (d)

44,  AfqH (A) : TEITEE WA FHeksT § TR S ot o T U g & e € |

FHROT (R) : TG AT P STIR W HY T AT TS R o WA W S0 TF B & o
T |

(1) (A) &R (R) 3H @&t € @ (R), (A) 3 8t A ¢ |

(2) (A) 3R (R) I Tel €, 77 (R), (A) T T&l = Fal & |
() (A) T, ] (R) T € |

4) (AT, B (R) W€ |



45. During which of the following year, National Sample Survey Organisation (NSSO) did
not collect data on problems of elderly population ?

(1) 52" Round (July, 1995 to June, 1996)
(2) 55" Round (July, 1999 to June, 2000)
(3) 58" Round (July — December, 2002)

(4) 60"™ Round (January — June, 2004)

Read the following table and answer questions (46 to 50) :

World Population — Past and Future Estimate (million) Year

World / Continents 1800 | 1900 | 1950 | 1999 | 2012 | 2050 | 2150
World 978 | 1650 | 2521 | 5978 | 7052 | 8909 | 9746
Africa 107 133 221 767 | 1052 | 1766 | 2308
Asia 635 | 947 | 1402 | 3634 | 4250 | 5268 | 5561
Europe 203 408 547 729 740 628 517

Latin America Caribbean 24 74 167 511 603 809 912

North America 7 82 172 307 351 392 398

Oceania 2 6 13 30 38 46 51

Source : UN Demographic Year Book : 2014.

46.  Which continent among the following has low projected population in the year 2150 ?
(1) Asia (2) Europe

(3) Africa (4) North America



45, TEfeEd § | 69 99 % IR T TYAT GAT0T TS (TT.UG.UH.31.) F ST ol SHae o
@3 % TR H 3ihe UHT Tal [T ?

(1) 528t IR (e 1995 & S, 1996)
(2) 553t IR (SFTE 1999 | S, 2000)
(3) 584t IR (STE — W, 2002)

(4) 608 & (SeRt — T4, 2004)

frfafaa |Rolt 6t afgy qor ueat & 3T 1T (46 — 50)

Torvar ST — gd g WE e ()

foea e 1800 | 1900 | 1950 | 1999 | 2012 | 2050 | 2150
faear 978 | 1650 | 2521 | 5978 | 7052 | 8909 | 9746
STRIHT 107 | 133 | 221 | 767 | 1052 | 1766 | 2308
T 635 | 947 | 1402 | 3634 | 4250 | 5268 | 5561
Puk| 203 | 408 | 547 | 729 | 740 | 628 | 517
AfesT sTdieRT HRfea= 24 74 | 167 | 511 | 603 | 809 | 912
ST STAIR 7 82 | 172 | 307 | 351 | 392 | 398
EINMpIERI) 2 6 13 30 38 46 51

e ; 9.0, SO S ; 2014.

46. TrAfcfEd & 9 foFT HRTEIT ot STAIHT SHEET a9 2150 | 9ol %1 € ?
(1) ufemn 2) =u
(3) ImHER (4) T TR



47. Which sequence of the following continents is correct in ascending order (low to high) for
the projected population in the year 2050 ?

(1) North America, Europe, Latin America & Caribbean, Africa.
(2) North America, Latin America & Caribbean, Africa, Europe.
(3) Europe, Latin America & Caribbean, Africa, North America.

(4) Africa, Europe, North America, Latin America and Caribbean.

48. During which period the population doubled in Europe ?
(1) 1800-1900 (2) 1900-1950

(3) 1950-1999 (4) 1999-2012

49.  Which continent has shown continuously large size of population ?
(1) Asia (2) Africa

(3) Europe (4) North America

50. Which sequence of countries among the following is correct according to descending
order of (high to low) projected population for the year 2150 ?

(1) Asia, Africa, Europe, Latin America & Caribbean.
(2) Latin America & Caribbean, Europe, Africa, Asia.
(3) Asia, Africa, Latin America & Caribbean, Europe.

(4) Europe, Latin America & Caribbean, Asia, Africa.




47. 9 2050 T TETET T 3! STHIT SHUEAT % SMER W dgd 7 (FH § 1) § 77 7 ®iF
T I T T T ?

(1) ST 3THIIHT, JRIY, T ST 3T BRITIH, TR

(2) ST 3T, wifest STARIRT SR HRTa, SThishT, I

(3) FRIU, W I U HRIea, STRIehT, ST STERIHT

(4)  SToRIHT, A, ST ST, Tl ST Ta hRfaam

48. o9 31afy & SR I I SHEEAT & A & T 2

(1) 1800-1900 (2) 1900-1950

(3) 1950-1999 (4) 1999-2012

49. g TERIT § SHEEA 1 HHR o a1 & ?
1) e @) STORIeRT
(3) WU (4) TR ST

50. @Y 2150 i SFTHIFT STHEET % Fed FH (3o F FH) & AR Frfarad § 9, I H S
1 A A T 2

(1) TR, STRE, I, TAiee SR Td RIS

(2) e oTRI U hRfeaE, I3, TR, T

(3) uTerE, 3ThieHT, wife STHRIRT Ud e qer gy

(4) T, et 3T Ua hifea, TR, 3Tshisht
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